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Ax2’ " axe ANT AN S Q = Q-6Q
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1) Q = 3) R = Recycle Ratio = 1 6) =
= 3% 4) R'= Internal Recycle Ratio = 3 AX2 = 2
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5.1

5.1.1 m

Vv dX/dt

VAN(dX/dt) = qax2rax2+Q iM+PANAN Van“QaN*AN-Qw Xan * (5.1)

JIAN " (")

0 = (R+1/7)Q, X ax2/V ANHAAK AN ( 1+R)QIX ANV AN-2Q w( X A2-X AN)

V an

tAN = VANQj
AN = £ (1+R)XAN (R +1/7)X ax2 ] /tANX AN (2Q (X AX2-AAN) IV anXan) (5.2)
XA = [(R+1/7)Q-2Q w]Xax2/ [ (1+R)Qi+2Qw AWAN (5.3)
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5.1.2

dS/dt

VAN'(dS/dt) = QaX2*AX2+Q i S|~QaN San ~(I%an/Y AN)X AN.V AN-Q WS AN s++(5-4)

Yan (Yield)
( .MLVSS/ .COD)

dS/dt = 0

0 = (R+1/7)Q,Sax2+ 6Q£1- 2QWAX2 - (1+R)QBAN + 2QW AN - |HAN X AN
AN, 7TVAN Van. Van. Van Yan

San = (R+I/7)Q1 AX2+6Q; 17 - 20WAX - ) IAXAWANY A ... (5.5)

(#R)Qr 2Qw
5.1.3
Lawrence McCarty (1970) 5.6
5.8
dX/dt = y(dS/dt)-kd.X s (5.6)
5.6 X
= 10C = vukd (5.7)
- (7
0C = = X /(dX/dt) ()



kd =
dSidt = KuxS/(Ks+S)
Ko -
Ks = (Saturated Constant)
f).8 X
= (IIX)dS/dt = Ku /(Ks+S)
= Q(- QM
5.9 5.10
Q (Sfe ¢)/M = K0SC.Q/M
Kst ¢ Q/M
K0QiSc/M
(Ks+SQQ /M
(-3
Sc (I-TpSi
:’_;E (l- ) Ql )
M M
M

............ (5.11)

............ (5.12)



133

5.13 511
- KIQSiIM
KQi/(I-TIM+QSj/M
= KRG (5.14)
¢ = SOSM (5.15)
Y = Constant =1C.Q/Q-TpM ... (5.16)
Mx = ()
Me = VAXIXAXE VAN ANV ARXACH o C ... (5.17)
5.1 5.10
' 100C: voi(r gumr-d (5.18)
me = 0Goisisey Hkdle (5.19)
510,512 5.15
T = T (5.20)
AN = ANAAN. (5.21)

Uan. = [ (R+1/7)SAX+6SiIT-(1+R)SAN]Qj+(2SAX- 2SM)QW  (5.22)
Man.
CAN = [(R+1/7)Sax2+6Sj/7 1Q]-2QW AX (5.23)

Man.
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AN = 1 - (1+R)S ay (5.24)
(R+1/7)SAR+6SIT
5.14
T = (KOTCT/yT+CT (5.25)
MN. = (K 0)AN. CAN/y AN+CAN (5.26)

5.20, 5.25, 5.21 5.26

T = (KOT/(yT+CT) (5.27)

AN = (K0)an/(Y aN+CAN) (5.28)
5.25

UT = CK,)tCj
yTeT ( 0CT)

5.9

(Ks)t =yTOCT (5.29)

I AN = Yan"an"Can. (5.30)

5.30 5.29

(K)AN(KS)T = YANANYTIYTOYAN v (5.31)
5.16

Kyt = yTi- Lmtaq, (5.32)
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(Ks)an = van@a-TiamMan-[U+R)Q-2QW] ... (5.33)
533 532 D = QI (1+R)Q-20W
(Ks)an/(Ks)t = DYANI-n AYMANYT(I- t)MT .. (5.34)
534 531

YanSanCt = Yan(1l- an)Man.D

Yt d'AN Yt (l-r|TMT

AN = 1-(SanCt(L1-T|t)/SLCAN. a.D)

V d. = man/mt

5.10

o (QTHADOIORE) 5.6

5.36

& SngYI(I+kd.0Q/(O([Y(KQT-kd]-I) ................. 5.7

5.2

Gujer  Jenkins (1975)

m OOV+(3S- (+{3keh 5.
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ME  vor- e+ kB (5.39)
Mt = (YNF)qe
M]; = (YNF)qgs
© - (MdW% --------------------- (5.40)
q = ( .NHg-N/  MLVSS- )
F = Nitrifier Fraction (#0
Yn = Yield Nitrifier ( NVS [ .NHg-N)
N = Nitrifier (1)
kdn = Nitrifier (']
d = MLVSS
= vexcel (VexetVexs) =MOMSMQ . e (5.41)
@ = MLVSS
= VxS (VIXGHVXS=ME/ (Ms+tMc) e (5.42)
5.2 1
(1+R)Q-3QW
Noc =
= Nan-Nc 1.
Nos =

Nc-Ns 1.
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-----------------------------
Qu 'RIQI = 3Q, N,
l 1 faanaznau

Q,, = (1+R)Q-3Q, i & & E Q. '(]'R)Q.'SQ..&
Nax | uevusnn 1 ABUUNA E N, i
L) _ M Comcmni L i
Q
t
Q =RQ-Q | g Q, = RQ
N; aadlawiu N,
5.2
% = Q(Nop+Nos) / VEXC +VX5 (5.43)
¢ = [(L+R)Q-3QW]N 0C/VCXC (5.44)
%  ~= RQi Ngs/VsXs (5.45)
5.2.1
dN/dt

Ve(dN/dt) = (1+R)Q,Nan-3QwNan-3QwNc-(1+R)Q ,Nct6QwNc-)Inc F.Xc.Ve (5.46)
Yn
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dN/dt = 0 tc = VclQ,

Ne = (1+R)QINAN3QUNANFINF.XcVC/Y N
(1+R)Q.-3QW
NC' = Nan- mnc F-xcuc Q)

- CI+R)0i_30w

D = Q[ (I+R)Qr 3QJ

Nc = Nan-D|V F.Xc.tc (5.47)
5.2.2
dN/dt
vs (dN/dt) = RQING-RQjN5-  NBF.xs.vs (5.48)
Yk

dN/dt = RQJNr - RQNS- y,IbF xs
Vs Vs Yn

dN/dt = 0 ts = Vs/Q,

Ns = Nec|dncF.xsits (5.49)
ryn
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Nc 5.47 5.49

N = NeDJfrch Xt pISFX5
yn o RYT

Q(Nan-Ns) = D|UNCF.MCH \HNS F.Ms
Yn RYn

Q(Nan-Ns)/Mt= D A ¢ FMC+ fINS F.MS
Yn Mt RYn Mt

(Nan-Ns)

Noc + Nos

Q (NoctN05) /Mt = DgcMce + qsMs

qr - OCDth+ (3qs/Rt .......................... (5.50)
0 5.40
T = (5.51)
Mhs R
A = aD N+l (5.52)
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|J.\S 5.39 552
A = 00D ) +1
fINT- ex +kdn R
Mnc Mnc
551 552
qT = QA3 (5.53)
542, 543, 544 5.53
Nnr = AR-1 (5.54)
Nos
» nt = Noc/Nos (5.55)
1 =AR-1 (5.56)
5.39, 5.52 3l
Mnc = (Mot + kdn) ( Tinil ) (5.57)
d nJt+R.D

D = QJ/[(I+R)Qj-3Qu]

Poly-P  Bacteria,
Nitrifying Bacteria, Denitifiying Bacteria

(Mixed Culture)
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5.3
2
5.3.1
5.3
11
.' a v & -
ovfnsafausd
| it R | e T e, o |
[ ~
[ . ¥ | fenaznau
Ly s N - e >
| T
| Sta. Ax.2 An. Ax.1 Con. I
| s |
| I
| I
D oyt et ot s et o s |
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5.1

53.1.1

110C
()
0.3333
0.1667
0.1000
0.0625

YT kd
Yt kd
1/0C = YTUT-kd
T= Qi( - ¢J/Mt
5.1
S Sc
(1) .\

598 34
602 32
597 20
602 22

5.1

5.4

5.1

142

5.10

0.8784
0.4926
0.3700
0.3008

1/0C

T
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0.35
0.3
e y = 0.464x - 0.0712
R =0.997
o~ 02
=
< 015
o
0.1
0.05
0 L
0.05 4 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
\
> v -1
0.1 - U; W)

5.4 r 1/0C

5.4 1/9C 7
1/9C = 0.464 7-0.0712

¥1=  0.464 MLVSS/ .COD
kd = -0.0712
¥4 W= 00712 Y1

<<
]



5.2

5.3.1.2

5.2

KOT

Kot

CT =

T =

yT

yT

0,5iMT)

KOT CT/(y T+C7)

YUT = (yTIKOY (LICT)+(L/KO)

CT
()
0.9314
0.5202
0.3828
0.3122

izicy,

()
0.8784
0.4926
0.37
0.3008

1.074'
1.922
2.612
3.203

144

5.15 5.25

()
1.138

2.03
2.703
3.324
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5.2 1UCT 1T
5.5

3 4 y = 1.0221x + 0.0473

R = 0.9998

Q)

0 0.5 I 1.5 2 2.9 3 35

1/C (3W)

5.5 1CT 1UT

5.5 1T 1CT
1UT = 1.0221 (LICT) +0.0473

y 1Kot = 0.0473
. o= 14
@« = .o . L0
« a

= s @



5.3.1.
1,123
Ks/

2

K¢, (M0.COD/a.)

0C

1600 =

1400

1200

1000

X000 =

600

00 =

200

53.1.3

1,524

146

Kst

Kst 5.9

T = Kot c/(KsTt C) s (5-9)

Kq7 7 5.3.1.3
KT 36,10 16 784, 1,341,

.

5.6 K 0C

k7 = 58958 0CH (5.58)

0.339)
y = 589.58x

¢ R =0.7105

0C( )

5 6 kg 0C



5.22

10
16

5.3.2
Poly-P Bacteria
5.3.2.1 Yan
Yan
R=1 5.22
1/0C = YAN AN-kdAN
AN. =
5.3
5.3
1/0C NAX2 Si
() () )
0.3333 24 598
0.1667 30 602
0.1000 18 597
0.0625 22 602

KdAN

KdAN

76
56
30
28

3,138
5,380
7,015
8,709

147

5.7

UAN

[(8SAX2/,A+65i/ A~2SANQji+ (25 AX2~2S AN QVIIM AN s+s(5-22)
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5.3 1/0C

04 +

0.3

y =0.1169x - 0.169

R = 0.9986

O;- 0.1 4
5.7 A 1/0C
5.8 1/0C
UAN 1/0C = 0.1169 UAN-0.169
= ., = 0.1169 .MLVSS/ .COD
i y oz ckam = -0.169
eu eu 1
' cam = 0169
53.2.2 Koan y AN
Koan y AN 5.26

5.23 R=1 5.23
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Can. = KOANCAN (yANCAN i (5.26)
Can. ~ [(@AXQP+@NM)Qi~2Qw AR TIM AN, oo (5.23)
5.26
l/Uan.: (Yan/K oan) (1/Can)+(1/KqAN)
5.22 5.23 1/UM
1/C AN 54
5.4 1/CAN 1/UMN
oC C AN U AN 1/C AN. 1/Uan
( () N A () ()
3 4.008 4.296 0.1664 0.2328
6 3.575 2.847 0.2798 0.3512
10 2.655 2.355 0.3767 0.4246
16 2.174 1.95 0.4600 0.5129
5.4
1/U AN 5.8



/W (H)

y = 0.935x + 0.0805

R™ = 0.9961

5.8

«

53.2.3

0.1

Uan.

0.2 0.3 04

5.8 1IUM
UM = 0.935 (1/CA +0.0805

1/K oan = 0.0805
(en = L4 <!
Yan/Koan = 0.935

_ e =+
Van = 1161
Ksan
Ksan 5.9

= Kgan San/(K santSan)

150

1/CA
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Koan AN
53.2.1 5.3.2.2 KSAN 3,6, 10 16
146.86, 181.86, 131.19 149.53 1.

Ksan OC 5.10

6C-0.0351

200 =

1%0 *

160 - ——

140
*

120 -
D3
100 y = 164.25x

R: = 0.0476

K (M0.COD/R.)

5.9 Ken 0C

5.4

5.3



54.1

5.5

1/0C
()
0.3333
0.1667
0.1000
0.0625

Nitrifier

Ms+Mc
()
12,000
20,892
29,107
34,887

Yn kdn.
1/0C = YN NT-kdn.
NI = Qi(N-Nc)/(M s+Mc)
UNT
5.5
Ni Nc
(1) )
29.12 9.05
29.2 6.80
28.98 4,63
29.21 3.36
55
5.10

152

(YN& kdn.)

5.1

UNT
(")
0.0585
0.0375
0.0293
0.0259
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04 4

. y = 8.1806x - 0.1436

R™ = 0.9985

CD'

T T T T T 1

0. 0.02 0.03 0.04 = 0.05 0.06
0.1 4 g v
Ugr (W)

5.10 v 1/0C

5.10 1/0C ' NT

10C = 81806 NF-0.1436

1/0C = 8.1806 Q Ni-Nc)/(M SeM(A)-0.1436

(Nc)
Ne = N-[(1/0¢+0.1436)x(Ms+Mc) ] ....(5.60)
8.1806 Q
= X. == 8.1806 MLVSS/ .NH3-N
y = -kdn = -0.1436
kdn = 0.1436



5.4.2

(Yn=8.1806  kdn =

kdn
Yn

Metcalf

2 Nitrifier

5.6

™
kn

yn
kdn

Nitrifier (Nitrifier Fraction)
Yn kdn. 54.1
0.1436)
Nitrifier

Nitrifier Fraction
5.10
y -kdn

Eddy (1991)
5.6

Nitrifier (Metcalf

Range
ol 0.3-3.0
NHg-N/ 0.2-5.0
NVS [ NH3N 0.1-0.3
| 0.03-0.06
5.6 Yn  kin
Yn = 020 NVS |
kin = 0.05 1

154

YN

Eddy, 1991)

1.0

14

0.2
0.05
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Yn  kdn 1/0C  um
(N
1/0C = 020 nt0.05 s (5.61)
Mt = Q(SESC(MS HME) (5.62)
Ms +MC = Nitrifier Fraction (Ms+Mc)
5.10 :
y -0.05 (-kdn) Nitrifier Fraction
1/0C 'INT
5.61 Nitrifier Fraction 3.36 %
5.61 5.11

0.4 1

0.3 4

y = 0.2001x - 0.05

R =09163

(3w )

v -l

19,

0.1 4

0 T T T T T T T 1
“v'/mr 0.40 0.60 0.80 1.00 1.20 1.40 1.60 1.%0

5.11 1/0C NT



Randall (1992)
Nitrifer Fraction

Nitrifier Fraction

54.3 Nitrifier
JINC 5.57
JV = QLIM+kdn) ( ,10
d nit:DR
D = Qi(1+R)Q-3QJ
» Qw Q;
R=1
MINC MMttkdn) (., )
d +0.5
Mnt - 1/0C
kdn 0.05
|ANC

5.1

156

2-5%
3.36%
(JaNG)
........................ (5.57)
1



ec

(Tu)

4N

(I

10
16

9C
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5.7 JHNC
M-nt a y Um
() ("
0.3333 0.49 2 0.7823
0.1667 0.52 2 0.4167
0.1000 0.53 5.08 0.2573
0.0625 0.53 4.50 0.1909
5.7
512
we. = 19575 0¢"% (5.64)
0
y=19575x
R’ = 0.9946
2 6 8 10 V) “ 16
0t ( !
512 IC oc
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5.4.4
4.2.8.4 4
" (Assimilation®
Assimilation : 2
Assimilation
5.1 (Mixed Liquor)
(Nan) 1
Nan
2 1
" 5.13
Total Q - 35 1/d, N
gk - RQ, | 0 AR QAN= (1+R)g-3Q"
N N5 > 9 NA)Q >
Q.
Nj, Nc, Nan )
(1)

5.13 Nen
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' R =1
Assimilation 3
(Ana)
Anas = QiNi+QiNc-2QjNan
= (NHNc-2NANQ, (5.65)
A = ' Assimilation
( NHg-N/ .VSS- )
Uas riNAs/dt = Anas/(Ms+Max2+MAN) ............... (5.66)
X
Ms, Max2, Man = 2
()
Assimilation (dNASdt)
(dS/dt)
dNAYdt = A dS/dt e (5.67)
AS
5.7
1/9C = Y(dS/dt)-kd = YU-kd s (5.7)
X
5.66 5.67
1/0C = auas-b

A/B =
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5.65 5.66 AS
5.8
5.8 A
ec 1/0C N Nc Nan ~ mstmaxltman Uas
() o () 0D 01 () - ( an%nlw.
MLVSS- )
3 0.3333  29.12 9.05 11.44 13,705 0.0390
6 0.1667  29.20 6.80 10.84 24,256 0.0207
10 0.1000  28.98 4.63 10.01 31,883 0.0149
16 0.0625  29.21 3.36 9.57 39,544 - 0.0119
5.8 A
1/0C 5.14

0.35 ~

0.3

y = 9.8443x - 0.0473

R™ = 0.9961

R |

(W)

0.15

10

0.1 4

0.05

T T T T T T T L)
T J%mﬁ 0.01 0.015 0.02 0.025 0.03 0.035 0.4

5.14 A 1/0C



5.14
10C = 9.8443 AS0.0473
565  5.66
110 r 9.8443Qi(Ni+Nc-2NAN  0.0473
Ms+MAX2+M ANL
Nan
N = (NiNr)- (170 rt-0.0473)x(Ms+MAyg+MA]
2 19.6886 Q
5.5 (D)
1
(DN 2
N 1 ( D)
DN 2 ( D\))
55.1 1 ( DI
1
vl
(1) 429.1 4 5.1

5.6

161

.(5.68)



D\L

v -l

Upny W)

162

5.9 D\ !
ec ! DN
) ('l (")
3 0.8784 0.053
6 0.4926 0.051
10 0.3700 0.046
16 0.3008 0.042
59
9C D\L 1 5.15 5.16
DNL = 0.0633 0C° 1413 e 5.69)
DM = 00559 79271 e (5.70)
0.05 \
0.03 - y = 0.0633x "
- R’ =09318
2 4 6 X 10 v “ 16
0, ()

5.15 ML 0C



v -l
Upny (M )

163

0.05
0.04 ./,_
¥ = ().0559x"3'171
0.03 4 Rz:O.RJZS
L 1’J'u",
5.16 ) |
5.16 )
1
5.5.2 -
o 4 51
5.10
5.10 o0 ,
0C -
() . v
3 0.8784 :
0.4926 :
: g 0.003
16 e 0.003



Upg (W)

0C

0.0035 ~

0.003

0.0025

0.002 +

0.0015 4

0.00] +

0.0005

0

164

5.10

D\2 T 5.17 5.18

DN = 0.0031 0G0.0051 s (5.71)

DN = -0.0167 -J.+0.0555

y = 0.0031Ln(x) - 0.0051

R’ = 0.7705

*

0C( )

5.17 me  9C
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0.0035 ~

0.003

0.0025 4

y =-0.0167x + 0.0085

Upne (W)

0.002 4 R = 0.8731

v

0.0015 4

0.001 A

0.0005

0 T T

&
T T T T T T T v

0.3 0.32 0.34 0.36 0.38 0.4 0.42 0.44 0.46 0.48 0.5

Uy (W)

5.18 D\2 T

5.18 D\2 T

5.17 D\2

5.6

(Phosphorus  Release)
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(Phosphorus ~ Uptake)

5.6.1 (PAN)
(PAN) Poly-P Bacteria
PAN Nan
5.19
[ =310, P
11 1
gk - R Ny 2 o2 S<1r ) -
nc 1 ps ¥ 2 Ux, >
0 0
Pj, Pc, PAN =
(/)
5.19 PAN
42111 4



(AP

(ds/dt)

5.1

Poly-P Bacteria

2QPAN-QPI-Q Pc
(PANP PCOIQT e (5.73)

p’e]_:
(Pl .MLVSS-T )

opel = dPIdt = Aprl (Max2+Man) ...(5.74)

X
(dPrldt)
dPeldt= a'dS/dt (5.75)
prel
1/9C = Y(dS/dt)-kd = YU-kd (5.7)
X
5.74 5.75
1/o0c = AUpetB

A B



€C

10
16

»

3

Bacteria

- (W)

5.74

5.11

5.11 prel.
l /0 C Pi Pc Pan. MAXH'MA\I
Coo CI)CINCT) ()
03333 1001  6.14  13.66 7,540
0.1667 1037 278 2000 14,158
0.1000 1001 368 2054 18215
0.0625 1034 359 2127 23287

42111 4
6-16 oL L
1/0C 5.20

y = 4.4795x - 0.1322

R = 0.9967

168

(P

MLVSS-
0.0519
0.0664
0.0526
0.0430

Poly-P

0C

Uprel

5.20

0.06 0.07

1/0C
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5.20 ml 1/0C
10C = 44795 01332
573 574

10C = £.4795 Qj(2PanPj-Pc)-0.1332

NAX1I+MAN

PAN
Pan = (1166+0.1332)x (M AXL+MAN (PFPQ)  .....(5.76)
8.959 () 2
5.6.2 (Pc)
(PAN
Pc

5.21



o |
' A

QP

2Q, T

P v
AX1’ T AX1 3]
.

Q,, = (1+R)Q-3Q, | i
B | uBuuandn 1
PAN Pc =
5.21
R=1
(APw
Apip

ADULNA

170

PR

1 Q. = (1+R)Q-6Q,

Phosphorus Uptake!!

(2Q -3QwPan-3QwPc-(2Q-6Q wPc

2Q,(Pan-Pc)-3Q wPan-Pc)

(Pl

P, =
(1)
P
Phosphorus Uptake
............... (5.77)

MLVSS- )



Uup = dPWY/dt = APuMc

X
(d Pudt)
(dS/dt)
dPuydt = a! dSidt
pup
5.7
1/0C  =YdS/dt-kd = YU-kd
X
5.77 5.78
1/0C  =AURP-B
A B =
5.77 5.78
5.12
5.12 op
9¢ 1/0C Pan Pc Mc
3 0.3333 13.66 6.14 5,835
6 0.1667 20.00 2.78 10,794
- 10 0.1000 20.54 3.68 15,440

16 0.0625 21.27 3.59 18,630

(5.79)

pup

Upp
0.0865
0.1094
0.0755
0.0659
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4.2.11 4
3 Poly-P
Bacteria p 0C
6-16 PAN 5.12
i 119 r , 522

y = 2:2829x - 0.0811

0.15 4

R = 09772

v -1

e l/el (W)

7

0. 0.04 0.06 0.08 0.1 0.12

-0.05 4 a
Uppp (AW )

0.1 #

5.22 w 1/0C

5.22 pp 1/0C
1/9C = 2.2829 1mm0.0811

5.71 5.78

1/oc = 2.2829 [2Q,(PANPr)-3Q WPAN-Pr) J-0.0811
Mr



Qw
Pc
pc =
5.7 |
(Mt)
' Otx =
= MxIMt
4.7
5.13 a
ec as AX2
()
3 0.274 0.196
6 0.249 0.217
10 0.250 0.205
16 0.243 0.216

Pan-(1/0¢t0.0811)Mc

5.13

45658 Q)

a A\

0.140
0.133
0.128
0.129

OAXI

0.130
0.135
0.133
0.136
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ac

0.260
0.266
0.283
0.276
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5.13 et
5.23
0.3 1 a &
X
>‘Q a ®
0. Py o g.‘
| ?.
. L AX2
0.15 4 a X
h—*‘ A o
0.1 a J
0. v
23 a
5.23 a
as = MsMt  =-0.0173 Inoc-0.2884 (5.81)
ame = MAMT = 0.0092 In0C+0.1901 ... (5.82)
am =Man/Mt =-0.0071 In 0r+0.1466 (5.83)
ciaxt = MAX/MT = 0.003 In0C+0.1275 (5.84)
ar  =McMt  =0.012 In0r+0.2474 (5.85)

5.14



5.14

yt
kd

Yt

K st
YAN
kdAN
K-oan

A Yan

K san

yn
kdn.*

Nitrifier Fraction

"DNI
DNI

"DN2
Ne

N an

Pc

0.464
0.0712
21.14
21,61
589.58 f)c"
0.1169
0.169
1242
1161
162.09 ¢ %!
0.20
0.05
3.36
19575 § "%
0.0633 9.C1413
0.0559 127
0.0031 In0 GO.0051
0.0167  +0.0085
Nr [(1/0¢c+0.1436)x(Ms+Mc)]

8.1806 (y
(N,*Nc)-(1/9 c+0.0473)x(MstMax2+Man)
2 19.6886 (

Pan-[(1/9¢c+0.0811)Mc/4.5658 Q]

.MLVSS/ .COD

1
1
1

.COD/ '
MLVSS/ .COD

1
1
1

.CoD/ '

NVSS/

nod/
NO3/
NO3/
NOg /

NH3-N
1

MLVSS-
MLVSS-
MLVSS-
MLVSS-
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5.14 (
- (1/0GQl332)x(MmermAY +(Pl+Pc) /.
8.959 . 2

as 00173 N9Cro.2884

o 0.0092 NOCro.1901
- 0.0072 9C+0.1466

" 0.003 N9Cro 1275

ac 0.012 N9Cr0.2474

Yn kdn.
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